
Mathématiques 2MStd Ch.4: Droites dans le plan métrique

Exercice 4.12.

a)
−→
AB =

(

5
−12

)

⇒
(

12
5

)

est un vecteur normal à AB
p.100⇒ (AB) : 12x + 5y + c = 0 par

B(2 ; −3) ⇒ 24 − 15 + c = 0 ⇐⇒ c = −9 ⇒ (d) = (AB) : 12x + 5y − 9 = 0

δ(P ; d) =
|12 · 19 + 5 · (−10) − 9|√

122 + 52
=

169√
169

= 13 [u]

b) δ(P ; d) =
|4 · 3 + 3 · (−2) + 9|√

42 + 32
=

15√
25

= 3 [u]

c) δ(P ; d) =
|5 · (−2) − 12 · (−4) − 12|

√

52 + (−12)2
=

26√
169

= 2 [u]

d) (d) : 3x − 4y − 5 = 0

δ(P ; d) =
|3 · 2 − 4 · 1 − 5|
√

32 + (−4)2
=

| − 3|√
25

=
3

5
[u]

e) On élimine les k ⇒ (d) : 2x + 5y − 30 = 0

• δ(P ; d) =
|2 · 5 + 5 · 9 − 30|√

22 + 52
=

25√
29

=
25

√
29

29
[u]

115? Gymnase de Burier/Chl



Mathématiques 2MStd Ch.4: Droites dans le plan métrique

Exercice 4.13.

Figure d’étude :
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1)
−−→
BC =

(

−5
3

)

⇒
(

3
5

)

est un vecteur normal à BC
p.100⇒ (BC) : 3x + 5y + c = 0 par

B(3 ; 2) ⇒ 19 + c = 0 ⇐⇒ c = −19 ⇒ (BC) : 3x + 5y − 19 = 0

2) ||−−→AH|| = δ(A ; BC) =
|3 · 2 + 5 · (−3) − 19|√

32 + 52
=

| − 28|√
34

=
28√
34

=
28

√
34

34
=

14
√

34

17

3) ||−−→BC|| =
√

34

4) σ(∆ABC) =
||−−→BC|| · ||−−→AH||

2
=

1

2
·
√

34 · 14
√

34

17
= 14 [u2]
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